Math 580 Quiz 6 Spring 2017 Name

- 1) Suppose that Yi,...,Y, are iid gamma(v, \) random variables. Find a minimal
sufficient statistic for (v, A). Hint: write as a 2 parameter REF.
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A /? 2) Let Y be a uniform U(—6, 6) random variable where § > 0 (and the sample size

‘V% s 1). Show that T(Y) = |Y| = max(-Y,Y) is a minimal sufficient statistic.
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O\ for y> 0,0 >0and > 0. Find a 1 or 2 dimensional sufficient statistic for 0,0). @Jgﬁw‘w
e Hint: a = exp(log( )) where a = 1/¢%+! > 0.
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Let Yl 5 Y be 11d Wlth pdf}?zy) = Hy 1 Where 9> 0 and 0 < y < 1. Find a

= @ mlmmal sufficient statistic for using the the Lehmann Scheffé LSM theorem.
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